g your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

Important Note : 1. On completin

ification, appeal to evaluator and /or equations written eg, 42+8 = 50, will be treated as malpractice.

. Any revealing of identi
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/ Thlrd Semester B.E. Degree Examination, June/July 2019

Analog Electronics

Time: 3 hrs. Max. Marks: 80

Note: Answer any FIVE full questions, choosing
ONE full question from each module.

Module-1

Derive the expression for Ziy, Zo, Ay and A for voltage divider bias CE amplifier with Rg
unbypassed using re-model. (10 Marks)
Write a note on hybrid © model. (06 Marks)

OR
For a emitter bias circuit with Rg = 470kQ, Rc = 3.3Q, Rg = 1.2kQ, CCl = CC2 =0.1uF,

hg = 120, hije = 1kQ, hoe = 50p0. Find Aj, Ay, Zin and Zg if Rg is unbypassed. Also write

the hybrid model. (08 Marks)
Derive the expression for Zi,, Zo, Ay and Ay for common collector configuration amplifier
using approximate hybrid model. (08 Marks)
Module-2
Derive the expression for transconductance also relate Ip and gn. (06 Marks)
Obtain the expression for Zi, and Ay for a JFET common gate amplifier. Write the small
signal model. (10 Marks)
OR

For a common drain configuration amplifier if Rg = 2uQ, Rs = 2.2kQ, Vpp = 20V,
Cc :CC2 =0.1pF. Find Zj, Zo and Ay given. Ipss = 10mA, Vy, = -5V, 14 = 40kQ,

VGSQ =-2.85V. (06 Marks)
With a neat diagram, explam the construction and operation of D-MOSFET and
E-MOSFET. Also write the drain and transfer characteristics. (10 Marks)
Module-3

State Miller’s theorem and also obtain the expression for input and output capacitances.

(08 Marks)
Derive the expressions for low frequency response of BJT amplifier due to input and output
coupling capacitors and also due to bypass capacitor. (08 Marks)
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OR
Determine the higher frequency response of the amplifier circuit shown in Fig.Q6(a) below,
also plot the graph.

+ 20V
1_: RD‘ 2.2k 12
S
B AR
¢ ]
b 4
1 = RL= 22k
lopy ?: R, =
j lmM ]
Fig.Q6(a) ‘ j
Given Vgs = -8V, Igss = 80mA, g, = 6ms, Cgs = 4pF, Cgq = 2pF. (08 Marks)
Obtain the expression for overall tower and upper cutoff frequency of multistage amplifier.
(08 Marks)
Module-4

Prove that input and output impedances in voltage shunt feedback amplifier decreases.

(06 marks)
With the help of neat block diagram, deduce the conditions for sustained oscillations.

(04 marks)

Explain the important advantages of negative feedback. (06 marks)
OR
For a Wein bridge oscillator, if R; = 1kQ and Ry = 2.5kQ. Find frequency of oscillation for
R =2kQ and C = 10mF. Is oscillations sustained? (04 Marks)
Derive the expression for frequency of oscillation in Hartley oscillator with the help of neat
circuit diagram. (06 Marks)
Explain the construction and operation of UJT. (06 Marks)
Module-5 ;
Explain push pull amplifier with a neat circuit dlaglam Show that its maximum conversion
efficiency is 78.5%. (12 Marks)
Write a note on class C amplifiers. (04 Marks)
OR ‘(dfi LIBRARY
Explain services and shunt voltage regulator. BANGALORE - 560 037 (10 marks)
For the circuit shown in Fig.Q10(b) below, if peak base circuit is 1mA. Calculate :
1) Po@ey  11) Pingey  1ii)n(%). (06 Marks)
—v +lgv-
Ra ; 2 lon
Isko y
IOJ“’F\L ° Vo.
T peom
Fig.Q10(b) ¥
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